Nuclear Transformations

Fusion:
13H + 12H - 24He + 01n + Energy
12H + 12H > 13H + p' + Energy
23He + 23He — 24He + Zp+ + Energy
Fission:

01n + 92235U — 56141Ba + 3692Kr + 301n + Energy

0ln + 511B - 37Li°" + 24He" " + Energy

Determine the missing part of the nuclear transformations below and classify it as a
fission or fusion reaction:
01n + 92235U — 3790Rb + 201n + ?
01n + 92235U — 3890Sr + 401n + ?
714N + 24He —» 11H + ?
88226Ra —» 86222Rn + ?
92233U—-90229Th + ?
101257Md—224 x+ ?
99253Es + 24He—01n + 7?
36Li + 12H-27?

23He + ? -47Be + vy



Answers:

01n + 92235U - 3790Rb + 201n + 55144Cs - fission

01n + 92235U — 3890Sr + 4 01n + 54142Xe - fission
714N + 24He — 11H + 8170 - fusion
88226Ra — 86222Rn + 24He - fission
92233U—- 90229Th + 24He - fission
101257Md—224 x+ 97249Bk - fission

99253Es + 24He—01n + 101256Md - fusion
36Li + 12H—2 24He - fusion

23He + 24He —»47Be + vy - fusion



